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1 EHIZE 1 705 17 A HEE 4 2,260 33 ESfE—ER 1 635
2 ER=EL 18 = B 34 HEA 1 1,100
3 ZHEMI 2 1,215 19 BT RE 4 1,975 35 MAEZ 1 830
4 (UEEL WS 8 5,505 20 SHMAEX 3,520 36 Y3 2 1,410
5 2 LB —EHF 21 TR 37 FaHZ B0
6 IR A 22 FHRt= | 4 1,575 38 IR 1 735
7 LET = 7 4,280 23 ZAEE 39 I EE 2 610
8 ZMFEH | 8 5,775 24 rrepis 1 375 40 =K E— BB
9 =157 5 2,750 25 BEARNIL 8 6,370 41 REET
10 Hriwm | 7 3,445 25 BRiEOE | 8 5,240 42 + M9A5L 2 1,775
11 BMAEA | 4 1,790 27 INRRE 43 STE s
12 EME 8 4,815 28 BEXE 44 EHED 3 1,745
13 HEBERE AR 29 HIE K 45 BIHIERER | 6 3,495
14 =Y EES 30 BRI 46 [ A5 & 4 2,495
15 HTERFZ 31 RAAR— BB 6 2,400 47 X A
16 LS 32 H e | 8 3,570 48 A
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I 5P A Kb AEMR
Ty K4 | 22 (g) Ty K4 | EE (g)
49 ) A 1 595 65 REH 3 1,715
50 HR 5 I 66 =l 2 1,370
51 BIAHT 8 5,610 67 SNEE
52 m/E— 5 2,740 69 IEEM 2 845
53 AASE 3 1,015 70 PIRRIT 3 1,275
54 gl 1 704 71 ARAAFTAL
55 TS 72 PRt 1 310
56 AL THE 1 530 73 AN A =N 3 1,680
57 HNEEAAN 1 445 74 B w7
58 HINE 2 75 A A0
59 THZEE 76 HHE= 8 3,890
60 B 5T 3 2,035 77 AR 8 6,085
61 m\sE 1 450 78 B HBE
62 TIPS 4 1,465 79 = IE L 1 645
63 BIRAE 80 /INAE R R
64 EHEX 2 590 81 REREZ 3 1,770
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